



ARIZONA DEPARTMENT OF TRANSPORTATION
PROJECT DELIVERY AND OPERATIONS DIVISION
CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2023062

TRACS No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
160 CN 321 F064401C	160-A-(213)T	103683	COCONINO	NORTHCENT	14		Rene Teran

Highway Termini	Location	Work Description
• TUBA CITY – FOUR CORNERS HWY	• Tuba City - MP 335	• System Preservation (Restoration/Rehab/Resurface)

BID RESULTS FOR 2023062

Bid Opening Date : 11/21/2025, Prequalification Required, Engineer Specialist : Rene Teran

Completion Date:

140 Working Days

The proposed project is located on Navajo Nation and Hopi lands in Coconino County begins at Tuba City and extends east along US 160 from Milepost 321.80 to Milepost 335. The proposed work consists of mill and replaces AC, remove and replace guardrail, extend pipe culverts, pavement marking and other related work.

Bid Rank	Compared To Department Estimat	Option #	Bid Amount	Contractor	Extended Sum of Items
	+%		\$17,793,199.00	DEPARTMENT ESTIMATE	\$17,793,199.00
1	+15.1%		\$20,475,887.67	SUNLAND ASPHALT & CONSTRUCTION LLC 1625 E. NORTHERN AVENUE PHOENIX, AZ 85020-	\$20,475,887.67
2	+19.8%		\$21,314,037.00	GRANITE CONSTRUCTION COMPANY 4115 E ILLINOIS ST TUCSON, AZ 85714-	\$21,314,037.00
3	+34.2%		\$23,877,777.00	FANN CONTRACTING, INC PO BOX 4356 PRESCOTT, AZ 86302-	\$23,877,777.00

Winning Bidder is 15.1% Over Department Estimate (Difference = \$2,682,688.67)

*** Bid Tabs for Proposal Pamphlet 2023062 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020036	SQ.YD.	REMOVAL OF ASPHALTIC CONCRETE PAVEMENT				
Bid Rank	Department Estimate		184.000	\$100.000	\$18,400.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$42.000	\$7,728.00	-58.0%
2	GRANITE CONSTRUCTION COMPANY			\$95.000	\$17,480.00	-5.0%
3	FANN CONTRACTING, INC			\$70.000	\$12,880.00	-30.0%
2020041	L.FT.	REMOVAL OF PIPE				
Bid Rank	Department Estimate		36.000	\$50.000	\$1,800.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$220.000	\$7,920.00	+340.0%
2	GRANITE CONSTRUCTION COMPANY			\$500.000	\$18,000.00	+900.0%
3	FANN CONTRACTING, INC			\$575.000	\$20,700.00	+1050.0%
2020071	L.FT.	REMOVE GUARD RAIL				
Bid Rank	Department Estimate		2,562.000	\$10.000	\$25,620.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$5.750	\$14,731.50	-42.5%
2	GRANITE CONSTRUCTION COMPANY			\$7.000	\$17,934.00	-30.0%
3	FANN CONTRACTING, INC			\$7.000	\$17,934.00	-30.0%
2020083	SQ.YD.	REMOVE BITUMINOUS PAVEMENT (MILLING) (2")				
Bid Rank	Department Estimate		276,049.000	\$3.000	\$828,147.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$4.600	\$1,269,825.40	+53.3%
2	GRANITE CONSTRUCTION COMPANY			\$6.900	\$1,904,738.10	+130.0%
3	FANN CONTRACTING, INC			\$7.500	\$2,070,367.50	+150.0%
2020085	SQ.YD.	REMOVE BITUMINOUS PAVEMENT (MILLING) (3")				
Bid Rank	Department Estimate		16,311.000	\$5.000	\$81,555.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$9.000	\$146,799.00	+80.0%
2	GRANITE CONSTRUCTION COMPANY			\$7.500	\$122,332.50	+50.0%
3	FANN CONTRACTING, INC			\$15.000	\$244,665.00	+200.0%
2020100	L.FT.	REMOVE FENCE (BARBED WIRE, TYPE 1)				
Bid Rank	Department Estimate		200.000	\$100.000	\$20,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$25.000	\$5,000.00	-75.0%
2	GRANITE CONSTRUCTION COMPANY			\$7.000	\$1,400.00	-93.0%
3	FANN CONTRACTING, INC			\$8.250	\$1,650.00	-91.8%
2020162	SQ.YD.	REMOVE (CONCRETE CHANNEL LINING)				
Bid Rank	Department Estimate		10.000	\$100.000	\$1,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$650.000	\$6,500.00	+550.0%
2	GRANITE CONSTRUCTION COMPANY			\$350.000	\$3,500.00	+250.0%
3	FANN CONTRACTING, INC			\$270.000	\$2,700.00	+170.0%
2020401	EACH	REMOVE AND RESET (SPEED BUMP)				
Bid Rank	Department Estimate		1.000	\$500.000	\$500.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$2,500.000	\$2,500.00	+400.0%

*** Bid Tabs for Proposal Pamphlet 2023062 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020401	EACH	REMOVE AND RESET (SPEED BUMP)				
Bid Rank	Department Estimate		1.000	\$500.000	\$500.00	
2	GRANITE CONSTRUCTION COMPANY			\$800.000	\$800.00	+60.0%
3	FANN CONTRACTING, INC			\$2,200.000	\$2,200.00	+340.0%
2030112	L.FT.	SHOULDER BUILD-UP (MILLED AC)				
Bid Rank	Department Estimate		138,983.000	\$1.000	\$138,983.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.400	\$55,593.20	-60.0%
2	GRANITE CONSTRUCTION COMPANY			\$1.300	\$180,677.90	+30.0%
3	FANN CONTRACTING, INC			\$0.400	\$55,593.20	-60.0%
2030113	HOUR	SHOULDER BUILD-UP (COMPACTION)				
Bid Rank	Department Estimate		144.000	\$250.000	\$36,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$255.000	\$36,720.00	+2.0%
2	GRANITE CONSTRUCTION COMPANY			\$120.000	\$17,280.00	-52.0%
3	FANN CONTRACTING, INC			\$145.000	\$20,880.00	-42.0%
2030904	CU.YD.	BORROW (IN PLACE)				
Bid Rank	Department Estimate		274.000	\$100.000	\$27,400.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$125.000	\$34,250.00	+25.0%
2	GRANITE CONSTRUCTION COMPANY			\$20.000	\$5,480.00	-80.0%
3	FANN CONTRACTING, INC			\$230.000	\$63,020.00	+130.0%
2050001	SQ.YD.	GRADING ROADWAY FOR PAVEMENT				
Bid Rank	Department Estimate		6,346.000	\$50.000	\$317,300.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$21.500	\$136,439.00	-57.0%
2	GRANITE CONSTRUCTION COMPANY			\$40.000	\$253,840.00	-20.0%
3	FANN CONTRACTING, INC			\$75.000	\$475,950.00	+50.0%
3030022	CU.YD.	AGGREGATE BASE, CLASS 2				
Bid Rank	Department Estimate		1,982.000	\$150.000	\$297,300.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$150.000	\$297,300.00	+0.0%
2	GRANITE CONSTRUCTION COMPANY			\$110.000	\$218,020.00	-26.7%
3	FANN CONTRACTING, INC			\$170.000	\$336,940.00	+13.3%
4040111	TON	BITUMINOUS TACK COAT				
Bid Rank	Department Estimate		153.000	\$900.000	\$137,700.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$625.000	\$95,625.00	-30.6%
2	GRANITE CONSTRUCTION COMPANY			\$1,250.000	\$191,250.00	+38.9%
3	FANN CONTRACTING, INC			\$575.000	\$87,975.00	-36.1%
4040116	HOUR	APPLY BITUMINOUS TACK COAT				
Bid Rank	Department Estimate		306.000	\$350.000	\$107,100.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$330.000	\$100,980.00	-5.7%
2	GRANITE CONSTRUCTION COMPANY			\$210.000	\$64,260.00	-40.0%

*** Bid Tabs for Proposal Pamphlet 2023062 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
4040116	HOUR	APPLY BITUMINOUS TACK COAT				
Bid Rank	Department Estimate		306.000	\$350.000	\$107,100.00	
3	FANN CONTRACTING, INC			\$245.000	\$74,970.00	-30.0%
4040125	TON	FOG COAT				
Bid Rank	Department Estimate		123.000	\$900.000	\$110,700.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$675.000	\$83,025.00	-25.0%
2	GRANITE CONSTRUCTION COMPANY			\$848.000	\$104,304.00	-5.8%
3	FANN CONTRACTING, INC			\$1,075.000	\$132,225.00	+19.4%
4040159	SQ.YD.	COVER MATERIAL				
Bid Rank	Department Estimate		287,557.000	\$3.000	\$862,671.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$2.450	\$704,514.65	-18.3%
2	GRANITE CONSTRUCTION COMPANY			\$1.960	\$563,611.72	-34.7%
3	FANN CONTRACTING, INC			\$2.100	\$603,869.70	-30.0%
4040165	SQ.YD.	BLOTTER MATERIAL				
Bid Rank	Department Estimate		298,706.000	\$1.000	\$298,706.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.080	\$23,896.48	-92.0%
2	GRANITE CONSTRUCTION COMPANY			\$0.100	\$29,870.60	-90.0%
3	FANN CONTRACTING, INC			\$0.100	\$29,870.60	-90.0%
4040230	TON	ASPHALT BINDER (PG 70-28 PM)				
Bid Rank	Department Estimate		2,789.000	\$900.000	\$2,510,100.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$700.000	\$1,952,300.00	-22.2%
2	GRANITE CONSTRUCTION COMPANY			\$685.000	\$1,910,465.00	-23.9%
3	FANN CONTRACTING, INC			\$795.000	\$2,217,255.00	-11.7%
4040232	TON	ASPHALT BINDER (PG 70-28 TR+)				
Bid Rank	Department Estimate		480.000	\$900.000	\$432,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$700.000	\$336,000.00	-22.2%
2	GRANITE CONSTRUCTION COMPANY			\$1,025.000	\$492,000.00	+13.9%
3	FANN CONTRACTING, INC			\$1,025.000	\$492,000.00	+13.9%
4090003	TON	ASPHALTIC CONCRETE (MISCELLANEOUS STRUCTURAL)				
Bid Rank	Department Estimate		2,355.000	\$100.000	\$235,500.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$210.000	\$494,550.00	+110.0%
2	GRANITE CONSTRUCTION COMPANY			\$240.000	\$565,200.00	+140.0%
3	FANN CONTRACTING, INC			\$250.000	\$588,750.00	+150.0%
4100100	TON	ASPHALT RUBBER MATERIAL (FOR ASPHALT RUBBER MEMBRANE)				
Bid Rank	Department Estimate		647.000	\$1,100.000	\$711,700.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$2,200.000	\$4,423,400.00	+100.0%
2	GRANITE CONSTRUCTION COMPANY			\$2,100.000	\$1,358,700.00	+90.9%
3	FANN CONTRACTING, INC			\$2,350.000	\$1,520,450.00	+113.6%

*** Bid Tabs for Proposal Pamphlet 2023062 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
4100200	CU.YD.	COVER MATERIAL (FOR ASPHALT RUBBER MATERIAL)				
Bid Rank	Department Estimate		4,246.000	\$50.000	\$212,300.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$450.000	\$1,910,700.00	+800.0%
2	GRANITE CONSTRUCTION COMPANY			\$485.000	\$2,059,310.00	+870.0%
3	FANN CONTRACTING, INC			\$508.000	\$2,156,968.00	+916.0%
4160004	TON	ASPHALTIC CONCRETE (3/4" MIX) (END PRODUCT) (SPECIAL MIX)				
Bid Rank	Department Estimate		55,776.000	\$80.000	\$4,462,080.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$98.000	\$5,466,048.00	+22.5%
2	GRANITE CONSTRUCTION COMPANY			\$89.000	\$4,964,064.00	+11.3%
3	FANN CONTRACTING, INC			\$139.000	\$7,752,864.00	+73.8%
4160031	TON	MINERAL ADMIXTURE				
Bid Rank	Department Estimate		530.000	\$90.000	\$47,700.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$90.000	\$47,700.00	+0.0%
2	GRANITE CONSTRUCTION COMPANY			\$90.000	\$47,700.00	+0.0%
3	FANN CONTRACTING, INC			\$90.000	\$47,700.00	+0.0%
5010011	L.FT.	PIPE, CORRUGATED METAL, 24"				
Bid Rank	Department Estimate		18.000	\$400.000	\$7,200.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$340.000	\$6,120.00	-15.0%
2	GRANITE CONSTRUCTION COMPANY			\$525.000	\$9,450.00	+31.3%
3	FANN CONTRACTING, INC			\$685.000	\$12,330.00	+71.3%
5010017	L.FT.	PIPE, CORRUGATED METAL, 30"				
Bid Rank	Department Estimate		40.000	\$400.000	\$16,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$485.000	\$19,400.00	+21.3%
2	GRANITE CONSTRUCTION COMPANY			\$575.000	\$23,000.00	+43.8%
3	FANN CONTRACTING, INC			\$500.000	\$20,000.00	+25.0%
5010025	L.FT.	PIPE, CORRUGATED METAL, 36"				
Bid Rank	Department Estimate		8.000	\$500.000	\$4,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$770.000	\$6,160.00	+54.0%
2	GRANITE CONSTRUCTION COMPANY			\$800.000	\$6,400.00	+60.0%
3	FANN CONTRACTING, INC			\$1,550.000	\$12,400.00	+210.0%
5010035	L.FT.	PIPE, CORRUGATED METAL, 48"				
Bid Rank	Department Estimate		4.000	\$700.000	\$2,800.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$1,150.000	\$4,600.00	+64.3%
2	GRANITE CONSTRUCTION COMPANY			\$875.000	\$3,500.00	+25.0%
3	FANN CONTRACTING, INC			\$2,750.000	\$11,000.00	+292.9%
5010073	L.FT.	PIPE, CORRUGATED METAL, 96"				
Bid Rank	Department Estimate		4.000	\$1,000.000	\$4,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$2,025.000	\$8,100.00	+102.5%

*** Bid Tabs for Proposal Pamphlet 2023062 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
5010073	L.FT.	PIPE, CORRUGATED METAL, 96"				
Bid Rank	Department Estimate		4.000	\$1,000.000	\$4,000.00	
2	GRANITE CONSTRUCTION COMPANY			\$1,200.000	\$4,800.00	+20.0%
3	FANN CONTRACTING, INC			\$3,450.000	\$13,800.00	+245.0%
5014524	EACH	FLARED END SECTION, 24" (C-13.20 OR C-13.25)				
Bid Rank	Department Estimate		1.000	\$1,500.000	\$1,500.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$1,200.000	\$1,200.00	-20.0%
2	GRANITE CONSTRUCTION COMPANY			\$1,500.000	\$1,500.00	+0.0%
3	FANN CONTRACTING, INC			\$1,150.000	\$1,150.00	-23.3%
5014530	EACH	FLARED END SECTION, 30" (C-13.20 OR C-13.25)				
Bid Rank	Department Estimate		2.000	\$1,600.000	\$3,200.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$1,685.000	\$3,370.00	+5.3%
2	GRANITE CONSTRUCTION COMPANY			\$2,400.000	\$4,800.00	+50.0%
3	FANN CONTRACTING, INC			\$1,400.000	\$2,800.00	-12.5%
5014536	EACH	FLARED END SECTION, 36" (C-13.20 OR C-13.25)				
Bid Rank	Department Estimate		1.000	\$1,700.000	\$1,700.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$1,850.000	\$1,850.00	+8.8%
2	GRANITE CONSTRUCTION COMPANY			\$2,600.000	\$2,600.00	+52.9%
3	FANN CONTRACTING, INC			\$1,700.000	\$1,700.00	+0.0%
5014624	EACH	METAL SAFETY END SECTION (24 ")				
Bid Rank	Department Estimate		1.000	\$2,000.000	\$2,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$3,250.000	\$3,250.00	+62.5%
2	GRANITE CONSTRUCTION COMPANY			\$3,800.000	\$3,800.00	+90.0%
3	FANN CONTRACTING, INC			\$1,700.000	\$1,700.00	-15.0%
5014630	EACH	METAL SAFETY END SECTION (30 ")				
Bid Rank	Department Estimate		6.000	\$5,000.000	\$30,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$3,700.000	\$22,200.00	-26.0%
2	GRANITE CONSTRUCTION COMPANY			\$5,000.000	\$30,000.00	+0.0%
3	FANN CONTRACTING, INC			\$5,000.000	\$30,000.00	+0.0%
5014636	EACH	METAL SAFETY END SECTION (36")				
Bid Rank	Department Estimate		3.000	\$7,000.000	\$21,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$6,200.000	\$18,600.00	-11.4%
2	GRANITE CONSTRUCTION COMPANY			\$7,000.000	\$21,000.00	+0.0%
3	FANN CONTRACTING, INC			\$7,100.000	\$21,300.00	+1.4%
5050201	EACH	RESET FRAME AND COVER FOR MANHOLE				
Bid Rank	Department Estimate		2.000	\$1,000.000	\$2,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$5,800.000	\$11,600.00	+480.0%
2	GRANITE CONSTRUCTION COMPANY			\$3,100.000	\$6,200.00	+210.0%

*** Bid Tabs for Proposal Pamphlet 2023062 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
5050201	EACH	RESET FRAME AND COVER FOR MANHOLE				
Bid Rank	Department Estimate		2.000	\$1,000.000	\$2,000.00	
3	FANN CONTRACTING, INC			\$1,980.000	\$3,960.00	+98.0%
6016088	EACH	HEADWALL (SD-6.30)(48" PIPE)				
Bid Rank	Department Estimate		2.000	\$25,000.000	\$50,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$27,000.000	\$54,000.00	+8.0%
2	GRANITE CONSTRUCTION COMPANY			\$44,000.000	\$88,000.00	+76.0%
3	FANN CONTRACTING, INC			\$48,000.000	\$96,000.00	+92.0%
6016089	EACH	HEADWALL (SD-6.31)(96" PIPE)				
Bid Rank	Department Estimate		2.000	\$40,000.000	\$80,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$37,000.000	\$74,000.00	-7.5%
2	GRANITE CONSTRUCTION COMPANY			\$100,000.000	\$200,000.00	+150.0%
3	FANN CONTRACTING, INC			\$67,500.000	\$135,000.00	+68.8%
7010005	L.SUM	MAINTENANCE AND PROTECTION OF TRAFFIC				
Bid Rank	Department Estimate		1.000	\$200,000.000	\$200,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$778,600.000	\$778,600.00	+289.3%
2	GRANITE CONSTRUCTION COMPANY			\$270,000.000	\$270,000.00	+35.0%
3	FANN CONTRACTING, INC			\$400,000.000	\$400,000.00	+100.0%
7016050	EACH-DAY	TRUCK-MOUNTED ATTENUATOR				
Bid Rank	Department Estimate		68.000	\$1,000.000	\$68,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$375.000	\$25,500.00	-62.5%
2	GRANITE CONSTRUCTION COMPANY			\$1,100.000	\$74,800.00	+10.0%
3	FANN CONTRACTING, INC			\$825.000	\$56,100.00	-17.5%
7016067	EACH-DAY	CHANGEABLE MESSAGE BOARD (CONTRACTOR FURNISHED)				
Bid Rank	Department Estimate		534.000	\$40.000	\$21,360.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$40.000	\$21,360.00	+0.0%
2	GRANITE CONSTRUCTION COMPANY			\$43.000	\$22,962.00	+7.5%
3	FANN CONTRACTING, INC			\$45.000	\$24,030.00	+12.5%
7016071	HOUR	PILOT VEHICLE WITH DRIVER				
Bid Rank	Department Estimate		984.000	\$75.000	\$73,800.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$110.000	\$108,240.00	+46.7%
2	GRANITE CONSTRUCTION COMPANY			\$94.000	\$92,496.00	+25.3%
3	FANN CONTRACTING, INC			\$86.000	\$84,624.00	+14.7%
7016075	HOUR	FLAGGING SERVICES (CIVILIAN)				
Bid Rank	Department Estimate		1,968.000	\$60.000	\$118,080.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$75.000	\$147,600.00	+25.0%
2	GRANITE CONSTRUCTION COMPANY			\$67.000	\$131,856.00	+11.7%
3	FANN CONTRACTING, INC			\$62.000	\$122,016.00	+3.3%

*** Bid Tabs for Proposal Pamphlet 2023062 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016079	HOUR	FLAGGING SERVICES (UNIFORMED OFFICER)				
Bid Rank	Department Estimate		520.000	\$140.000	\$72,800.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$140.000	\$72,800.00	+0.0%
2	GRANITE CONSTRUCTION COMPANY			\$134.000	\$69,680.00	-4.3%
3	FANN CONTRACTING, INC			\$175.000	\$91,000.00	+25.0%
7030008	EACH	DELINEATOR (FLEXIBLE)(SINGLE WHITE)				
Bid Rank	Department Estimate		63.000	\$600.000	\$37,800.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$260.000	\$16,380.00	-56.7%
2	GRANITE CONSTRUCTION COMPANY			\$226.000	\$14,238.00	-62.3%
3	FANN CONTRACTING, INC			\$195.000	\$12,285.00	-67.5%
7030080	EACH	OBJECT MARKER (M-23) (TYPE 3)				
Bid Rank	Department Estimate		20.000	\$100.000	\$2,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$825.000	\$16,500.00	+725.0%
2	GRANITE CONSTRUCTION COMPANY			\$800.000	\$16,000.00	+700.0%
3	FANN CONTRACTING, INC			\$850.000	\$17,000.00	+750.0%
7080201	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (WHITE)				
Bid Rank	Department Estimate		169,564.000	\$0.200	\$33,912.80	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.090	\$15,260.76	-55.0%
2	GRANITE CONSTRUCTION COMPANY			\$0.100	\$16,956.40	-50.0%
3	FANN CONTRACTING, INC			\$0.150	\$25,434.60	-25.0%
7080202	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (YELLOW)				
Bid Rank	Department Estimate		92,575.000	\$0.200	\$18,515.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.090	\$8,331.75	-55.0%
2	GRANITE CONSTRUCTION COMPANY			\$0.100	\$9,257.50	-50.0%
3	FANN CONTRACTING, INC			\$0.150	\$13,886.25	-25.0%
7080204	EACH	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED SYMBOL)				
Bid Rank	Department Estimate		23.000	\$150.000	\$3,450.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$69.000	\$1,587.00	-54.0%
2	GRANITE CONSTRUCTION COMPANY			\$78.000	\$1,794.00	-48.0%
3	FANN CONTRACTING, INC			\$65.000	\$1,495.00	-56.7%
7080208	EACH	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED LEGEND) (ONLY)				
Bid Rank	Department Estimate		11.000	\$150.000	\$1,650.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$75.000	\$825.00	-50.0%
2	GRANITE CONSTRUCTION COMPANY			\$85.000	\$935.00	-43.3%
3	FANN CONTRACTING, INC			\$78.000	\$858.00	-48.0%
7090001	L.FT.	DUAL COMPONENT PAVEMENT MARKING (WHITE EPOXY)				
Bid Rank	Department Estimate		247,464.000	\$1.000	\$247,464.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.510	\$126,206.64	-49.0%

*** Bid Tabs for Proposal Pamphlet 2023062 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7090001	L.FT.	DUAL COMPONENT PAVEMENT MARKING (WHITE EPOXY)				
Bid Rank	Department Estimate		247,464.000	\$1.000	\$247,464.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.550	\$136,105.20	-45.0%
2	GRANITE CONSTRUCTION COMPANY			\$0.500	\$123,732.00	-50.0%
3	FANN CONTRACTING, INC					
7090002	L.FT.	DUAL COMPONENT PAVEMENT MARKING (YELLOW EPOXY)				
Bid Rank	Department Estimate		50,286.000	\$1.000	\$50,286.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.510	\$25,645.86	-49.0%
2	GRANITE CONSTRUCTION COMPANY			\$0.550	\$27,657.30	-45.0%
3	FANN CONTRACTING, INC			\$0.500	\$25,143.00	-50.0%
7090005	L.FT.	DUAL COMPONENT PAVEMENT MARKING (TRANSVERSE)				
Bid Rank	Department Estimate		2,745.000	\$3.000	\$8,235.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$3.400	\$9,333.00	+13.3%
2	GRANITE CONSTRUCTION COMPANY			\$3.500	\$9,607.50	+16.7%
3	FANN CONTRACTING, INC			\$1.500	\$4,117.50	-50.0%
7090010	EACH	DUAL COMPONENT PAVEMENT LEGEND				
Bid Rank	Department Estimate		11.000	\$500.000	\$5,500.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$260.000	\$2,860.00	-48.0%
2	GRANITE CONSTRUCTION COMPANY			\$260.000	\$2,860.00	-48.0%
3	FANN CONTRACTING, INC			\$225.000	\$2,475.00	-55.0%
7090012	EACH	DUAL COMPONENT PAVEMENT SYMBOL				
Bid Rank	Department Estimate		23.000	\$750.000	\$17,250.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$200.000	\$4,600.00	-73.3%
2	GRANITE CONSTRUCTION COMPANY			\$225.000	\$5,175.00	-70.0%
3	FANN CONTRACTING, INC			\$225.000	\$5,175.00	-70.0%
7350005	EACH	LOOP DETECTOR (COUNTER)				
Bid Rank	Department Estimate		2.000	\$7,300.000	\$14,600.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$5,000.000	\$10,000.00	-31.5%
2	GRANITE CONSTRUCTION COMPANY			\$5,600.000	\$11,200.00	-23.3%
3	FANN CONTRACTING, INC			\$5,600.000	\$11,200.00	-23.3%
7350023	EACH	LOOP DETECTOR (SPEED/CLASSIFICATION) (PARTIAL REPLACEMENT)				
Bid Rank	Department Estimate		1.000	\$1,300.000	\$1,300.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$20,000.000	\$20,000.00	+1438.5%
2	GRANITE CONSTRUCTION COMPANY			\$20,000.000	\$20,000.00	+1438.5%
3	FANN CONTRACTING, INC			\$18,500.000	\$18,500.00	+1323.1%
8050003	ACRE	SEEDING (CLASS II)				
Bid Rank	Department Estimate		12.000	\$10,000.000	\$120,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$8,000.000	\$96,000.00	-20.0%
2	GRANITE CONSTRUCTION COMPANY			\$6,000.000	\$72,000.00	-40.0%

*** Bid Tabs for Proposal Pamphlet 2023062 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
8050003	ACRE	SEEDING (CLASS II)				
Bid Rank	Department Estimate		12.000	\$10,000.000	\$120,000.00	
3	FANN CONTRACTING, INC			\$8,500.000	\$102,000.00	-15.0%
8101021	L.FT.	EROSION CONTROL (WATTLES) (9")				
Bid Rank	Department Estimate		11,632.000	\$3.000	\$34,896.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$5.250	\$61,068.00	+75.0%
2	GRANITE CONSTRUCTION COMPANY			\$8.000	\$93,056.00	+166.7%
3	FANN CONTRACTING, INC			\$4.500	\$52,344.00	+50.0%
8101029	CU.YD.	EROSION CONTROL (ROCK MULCH) (DETAIL DC)				
Bid Rank	Department Estimate		35.000	\$250.000	\$8,750.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$415.000	\$14,525.00	+66.0%
2	GRANITE CONSTRUCTION COMPANY			\$450.000	\$15,750.00	+80.0%
3	FANN CONTRACTING, INC			\$400.000	\$14,000.00	+60.0%
9010001	L.SUM	MOBILIZATION				
Bid Rank	Department Estimate		1.000	\$2,150,000.000	\$2,150,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$2,006,400.650	\$2,006,400.65	-6.7%
2	GRANITE CONSTRUCTION COMPANY			\$2,123,675.470	\$2,123,675.47	-1.2%
3	FANN CONTRACTING, INC			\$1,293,976.800	\$1,293,976.80	-39.8%
9030011	L.FT.	BARBED WIRE FENCE, TYPE 1				
Bid Rank	Department Estimate		138.000	\$65.000	\$8,970.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$40.000	\$5,520.00	-38.5%
2	GRANITE CONSTRUCTION COMPANY			\$26.000	\$3,588.00	-60.0%
3	FANN CONTRACTING, INC			\$26.000	\$3,588.00	-60.0%
9050004	L.FT.	GUARD RAIL, W-BEAM, SINGLE FACE (LONG SPAN)				
Bid Rank	Department Estimate		38.000	\$100.000	\$3,800.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$62.000	\$2,356.00	-38.0%
2	GRANITE CONSTRUCTION COMPANY			\$70.000	\$2,660.00	-30.0%
3	FANN CONTRACTING, INC			\$70.000	\$2,660.00	-30.0%
9050005	L.FT.	GUARD RAIL, W-BEAM, SINGLE FACE (MASH)				
Bid Rank	Department Estimate		4,196.000	\$50.000	\$209,800.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$33.000	\$138,468.00	-34.0%
2	GRANITE CONSTRUCTION COMPANY			\$38.000	\$159,448.00	-24.0%
3	FANN CONTRACTING, INC			\$37.000	\$155,252.00	-26.0%
9050025	EACH	GUARD RAIL TERMINAL (MASH)				
Bid Rank	Department Estimate		8.000	\$5,300.000	\$42,400.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$4,700.000	\$37,600.00	-11.3%
2	GRANITE CONSTRUCTION COMPANY			\$5,200.000	\$41,600.00	-1.9%
3	FANN CONTRACTING, INC			\$5,100.000	\$40,800.00	-3.8%

*** Bid Tabs for Proposal Pamphlet 2023062 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9130002	CU.YD.	RIPRAP (WIRE-TIED)				
Bid Rank	Department Estimate		11.000	\$800.000	\$8,800.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$690.000	\$7,590.00	-13.8%
2	GRANITE CONSTRUCTION COMPANY			\$2,800.000	\$30,800.00	+250.0%
3	FANN CONTRACTING, INC			\$940.000	\$10,340.00	+17.5%
9130005	CU.YD.	RIPRAP (GABIONS)				
Bid Rank	Department Estimate		13.000	\$1,000.000	\$13,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$750.000	\$9,750.00	-25.0%
2	GRANITE CONSTRUCTION COMPANY			\$1,400.000	\$18,200.00	+40.0%
3	FANN CONTRACTING, INC			\$1,525.000	\$19,825.00	+52.5%
9130007	CU.YD.	RIPRAP (DUMPED) (D50 = 6")				
Bid Rank	Department Estimate		20.000	\$250.000	\$5,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$510.000	\$10,200.00	+104.0%
2	GRANITE CONSTRUCTION COMPANY			\$800.000	\$16,000.00	+220.0%
3	FANN CONTRACTING, INC			\$575.000	\$11,500.00	+130.0%
9201021	SQ.YD.	CONCRETE CHANNEL LINING (6") (6")(DETAIL DD)				
Bid Rank	Department Estimate		10.000	\$200.000	\$2,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$2,100.000	\$21,000.00	+950.0%
2	GRANITE CONSTRUCTION COMPANY			\$1,500.000	\$15,000.00	+650.0%
3	FANN CONTRACTING, INC			\$1,125.000	\$11,250.00	+462.5%
9240011	L.SUM	FORCE ACCOUNT WORK (REPAIR BASE MATERIAL)				
Bid Rank	Department Estimate		1.000	\$500,000.000	\$500,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$500,000.000	\$500,000.00	+0.0%
2	GRANITE CONSTRUCTION COMPANY			\$500,000.000	\$500,000.00	+0.0%
3	FANN CONTRACTING, INC			\$500,000.000	\$500,000.00	+0.0%
9240016	L.SUM	FORCE ACCOUNT WORK (BURROWING OWL AND BURROW PROTECTION)				
Bid Rank	Department Estimate		1.000	\$10,000.000	\$10,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$10,000.000	\$10,000.00	+0.0%
2	GRANITE CONSTRUCTION COMPANY			\$10,000.000	\$10,000.00	+0.0%
3	FANN CONTRACTING, INC			\$10,000.000	\$10,000.00	+0.0%
9240017	L.SUM	FORCE ACCOUNT WORK (BIOLOGIST)				
Bid Rank	Department Estimate		1.000	\$10,000.000	\$10,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$10,000.000	\$10,000.00	+0.0%
2	GRANITE CONSTRUCTION COMPANY			\$10,000.000	\$10,000.00	+0.0%
3	FANN CONTRACTING, INC			\$10,000.000	\$10,000.00	+0.0%
9240046	CU.YD.	MISCELLANEOUS WORK (SLOPE REPAIR)(DETAIL DG)				
Bid Rank	Department Estimate		138.000	\$50.000	\$6,900.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$85.000	\$11,730.00	+70.0%

*** Bid Tabs for Proposal Pamphlet 2023062 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9240046	CU.YD.	MISCELLANEOUS WORK (SLOPE REPAIR)(DETAIL DG)				
Bid Rank	Department Estimate		138.000	\$50.000	\$6,900.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$115.000	\$15,870.00	+130.0%
2	GRANITE CONSTRUCTION COMPANY			\$75.000	\$10,350.00	+50.0%
3	FANN CONTRACTING, INC					
9240117	SQ.FT.	MISCELLANEOUS WORK (HEADWALL SPALL REPAIR)(DETAIL DG)				
Bid Rank	Department Estimate		4.000	\$250.000	\$1,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$750.000	\$3,000.00	+200.0%
2	GRANITE CONSTRUCTION COMPANY			\$400.000	\$1,600.00	+60.0%
3	FANN CONTRACTING, INC			\$750.000	\$3,000.00	+200.0%
9240142	CU.YD.	MISCELLANEOUS WORK (PLACE AND COMPACT AC MILLINGS)				
Bid Rank	Department Estimate		29.000	\$100.000	\$2,900.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$67.000	\$1,943.00	-33.0%
2	GRANITE CONSTRUCTION COMPANY			\$100.000	\$2,900.00	+0.0%
3	FANN CONTRACTING, INC			\$170.000	\$4,930.00	+70.0%
9240144	L.FT.	MISCELLANEOUS WORK (PIPE LINING)(30" AND 36")				
Bid Rank	Department Estimate		117.000	\$500.000	\$58,500.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$673.670	\$78,819.39	+34.7%
2	GRANITE CONSTRUCTION COMPANY			\$900.000	\$105,300.00	+80.0%
3	FANN CONTRACTING, INC			\$1,550.000	\$181,350.00	+210.0%
9240145	L.FT.	MISCELLANEOUS WORK (CRACK SEAL WITH EPOXY INJECTION)(DETAIL DH)				
Bid Rank	Department Estimate		8.000	\$500.000	\$4,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$220.000	\$1,760.00	-56.0%
2	GRANITE CONSTRUCTION COMPANY			\$250.000	\$2,000.00	-50.0%
3	FANN CONTRACTING, INC			\$4,525.000	\$36,200.00	+805.0%
9240170	L.SUM	CONTRACTOR QUALITY CONTROL				
Bid Rank	Department Estimate		1.000	\$355,664.700	\$355,664.70	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$400,000.000	\$400,000.00	+12.5%
2	GRANITE CONSTRUCTION COMPANY			\$300,000.000	\$300,000.00	-15.7%
3	FANN CONTRACTING, INC			\$225,000.000	\$225,000.00	-36.7%
9240181	SQ.YD.	MISCELLANEOUS WORK (CONTROL OF NOXIOUS PLANTS)(MANUAL/MECHANICAL METHODS)				
Bid Rank	Department Estimate		32,430.000	\$1.000	\$32,430.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$2.000	\$64,860.00	+100.0%
2	GRANITE CONSTRUCTION COMPANY			\$1.100	\$35,673.00	+10.0%
3	FANN CONTRACTING, INC			\$1.000	\$32,430.00	+0.0%
9240182	SQ.YD.	MISCELLANEOUS WORK (CONTROL OF NOXIOUS PLANTS)(HERBICIDE)				
Bid Rank	Department Estimate		13,899.000	\$1.000	\$13,899.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$1.150	\$15,983.85	+15.0%
2	GRANITE CONSTRUCTION COMPANY			\$0.850	\$11,814.15	-15.0%

*** Bid Tabs for Proposal Pamphlet 2023062 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9240182	SQ.YD.	MISCELLANEOUS WORK (CONTROL OF NOXIOUS PLANTS)(HERBICIDE)				
Bid Rank	Department Estimate		13,899.000	\$1.000	\$13,899.00	
3	FANN CONTRACTING, INC			\$0.900	\$12,509.10	-10.0%
9240900	L.SUM	AVOIDANCE AREA PROTECTION PLAN AND MONITORING				
Bid Rank	Department Estimate		1.000	\$13,000.000	\$13,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$25,000.000	\$25,000.00	+92.3%
2	GRANITE CONSTRUCTION COMPANY			\$2,500.000	\$2,500.00	-80.8%
3	FANN CONTRACTING, INC			\$25,000.000	\$25,000.00	+92.3%
9250001	L.SUM	CONSTRUCTION SURVEYING AND LAYOUT				
Bid Rank	Department Estimate		1.000	\$344,342.000	\$344,342.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$250,000.000	\$250,000.00	-27.4%
2	GRANITE CONSTRUCTION COMPANY			\$66,000.000	\$66,000.00	-80.8%
3	FANN CONTRACTING, INC			\$100,000.000	\$100,000.00	-71.0%
9280034	L.FT.	GROUND-IN RUMBLE STRIP (6 INCH)				
Bid Rank	Department Estimate		169,903.000	\$0.500	\$84,951.50	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.180	\$30,582.54	-64.0%
2	GRANITE CONSTRUCTION COMPANY			\$0.220	\$37,378.66	-56.0%
3	FANN CONTRACTING, INC			\$0.250	\$42,475.75	-50.0%
2020009	A	CU.YD. REMOVAL OF STRUCTURAL CONCRETE				
Bid Rank	Department Estimate		2.000	\$1,000.000	\$2,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$1,650.000	\$3,300.00	+65.0%
2	GRANITE CONSTRUCTION COMPANY			\$6,000.000	\$12,000.00	+500.0%
3	FANN CONTRACTING, INC			\$3,200.000	\$6,400.00	+220.0%
2030401	A	CU.YD. DRAINAGE EXCAVATION				
Bid Rank	Department Estimate		6.000	\$448.500	\$2,691.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$525.000	\$3,150.00	+17.1%
2	GRANITE CONSTRUCTION COMPANY			\$1,100.000	\$6,600.00	+145.3%
3	FANN CONTRACTING, INC			\$280.000	\$1,680.00	-37.6%
2030501	A	CU.YD. STRUCTURAL EXCAVATION				
Bid Rank	Department Estimate		66.000	\$125.000	\$8,250.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$220.000	\$14,520.00	+76.0%
2	GRANITE CONSTRUCTION COMPANY			\$500.000	\$33,000.00	+300.0%
3	FANN CONTRACTING, INC			\$100.000	\$6,600.00	-20.0%
2030506	A	CU.YD. STRUCTURE BACKFILL				
Bid Rank	Department Estimate		145.000	\$125.000	\$18,125.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$300.000	\$43,500.00	+140.0%
2	GRANITE CONSTRUCTION COMPANY			\$500.000	\$72,500.00	+300.0%
3	FANN CONTRACTING, INC			\$275.000	\$39,875.00	+120.0%

*** Bid Tabs for Proposal Pamphlet 2023062 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
6010002	A	CU.YD. STRUCTURAL CONCRETE (CLASS S) (F'C = 3,000)				
Bid Rank		Department Estimate	100.000	\$2,510.000	\$251,000.00	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$1,000.000	\$100,000.00	-60.2%
2		GRANITE CONSTRUCTION COMPANY		\$4,000.000	\$400,000.00	+59.4%
3		FANN CONTRACTING, INC		\$2,000.000	\$200,000.00	-20.3%
6050002	A	LB. REINFORCING STEEL				
Bid Rank		Department Estimate	10,899.000	\$5.000	\$54,495.00	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$2.500	\$27,247.50	-50.0%
2		GRANITE CONSTRUCTION COMPANY		\$12.000	\$130,788.00	+140.0%
3		FANN CONTRACTING, INC		\$4.000	\$43,596.00	-20.0%
6050101	A	EACH PLACE DOWELS				
Bid Rank		Department Estimate	16.000	\$150.000	\$2,400.00	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$65.500	\$1,048.00	-56.3%
2		GRANITE CONSTRUCTION COMPANY		\$200.000	\$3,200.00	+33.3%
3		FANN CONTRACTING, INC		\$68.000	\$1,088.00	-54.7%
2020009	B	CU.YD. REMOVAL OF STRUCTURAL CONCRETE				
Bid Rank		Department Estimate	2.000	\$1,000.000	\$2,000.00	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$1,650.000	\$3,300.00	+65.0%
2		GRANITE CONSTRUCTION COMPANY		\$6,000.000	\$12,000.00	+500.0%
3		FANN CONTRACTING, INC		\$3,250.000	\$6,500.00	+225.0%
2030501	B	CU.YD. STRUCTURAL EXCAVATION				
Bid Rank		Department Estimate	52.000	\$125.000	\$6,500.00	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$260.000	\$13,520.00	+108.0%
2		GRANITE CONSTRUCTION COMPANY		\$500.000	\$26,000.00	+300.0%
3		FANN CONTRACTING, INC		\$125.000	\$6,500.00	+0.0%
2030506	B	CU.YD. STRUCTURE BACKFILL				
Bid Rank		Department Estimate	109.000	\$125.000	\$13,625.00	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$250.000	\$27,250.00	+100.0%
2		GRANITE CONSTRUCTION COMPANY		\$500.000	\$54,500.00	+300.0%
3		FANN CONTRACTING, INC		\$265.000	\$28,885.00	+112.0%
6010002	B	CU.YD. STRUCTURAL CONCRETE (CLASS S) (F'C = 3,000)				
Bid Rank		Department Estimate	80.000	\$2,510.000	\$200,800.00	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$1,220.000	\$97,600.00	-51.4%
2		GRANITE CONSTRUCTION COMPANY		\$4,000.000	\$320,000.00	+59.4%
3		FANN CONTRACTING, INC		\$2,000.000	\$160,000.00	-20.3%
6050002	B	LB. REINFORCING STEEL				
Bid Rank		Department Estimate	8,049.000	\$5.000	\$40,245.00	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$2.500	\$20,122.50	-50.0%

*** Bid Tabs for Proposal Pamphlet 2023062 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
6050002	B	LB. REINFORCING STEEL				
Bid Rank		Department Estimate	8,049.000	\$5.000	\$40,245.00	
2		GRANITE CONSTRUCTION COMPANY		\$12.000	\$96,588.00	+140.0%
3		FANN CONTRACTING, INC		\$4.000	\$32,196.00	-20.0%
6050101	B	EACH PLACE DOWELS				
Bid Rank		Department Estimate	16.000	\$150.000	\$2,400.00	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$65.500	\$1,048.00	-56.3%
2		GRANITE CONSTRUCTION COMPANY		\$200.000	\$3,200.00	+33.3%
3		FANN CONTRACTING, INC		\$68.000	\$1,088.00	-54.7%